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Algebra 2 Trig — Function Review Name i
1. Complete the following chart. Sketch the general shape under the function.
Parent Function . a Translated Form
(draw general shape) Domain & Range End Behavior (use h & k)
= 5t ' = R g
a) f(x) /\x o e Cense ¥ (X ﬂq} \”/}’f
/C) R: /PN7 2 N
b S =2 D R4 \- e welp
L o ph ~ yah
| = Y6 “
=1
9 f(x? REg D: X 26 '\/: (033 =)+
| R: {
d fx)=x -
L — D: Ak 20 N = Jien +ie
) R: >0
A3
‘%’ R: @ - =
_ .2
f) f(?)‘—x DE—_ Y: (.)(_\,ﬁb-_‘,[,t
) fx)=3" . ]
v p:_ R @ .
h) f(x)=Ix|
SV DB V= 1 e
R b >0
) f(x)=¥x =
D:_ & \’ o 2 Y Fre
7‘4 W

Scanned by CamScanner



2. Using the functions from the previous problem, explain why there are asymptotes in
graphs of the following functions. Be as precise as possible.

1b) D CNO I wYor
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1c)
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1g) Woritontal GS\'I m?\—o\-&

3. What is an intercept on a graph?
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4. How do you find an intercept algebraically?

5. Find 3 key points for the following functions.

a) f(x)=—2x*+3x-4
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b) f(x)=23x+2-1 0 flx)=——-2
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6 L]
Match the Statement wig, its graph

Ll‘ f(x)=—2x+1
LZ. f(x):—(x_2)2

3 f@=(r—l)x+2)(r—4)

_ b 4 fwe=ra

_@Ls. f(x)=lx+4]
"P 6. y>3x-1

l \ 7. This graph is not a function.

Bhg dy LR .
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2if0<x<l1
3 1<x<2

\ 8. f(x)={

k)
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9. Match each graph with its function. |
Then state the domain and range of each

function.

a) b) m"%"*:

!

- 5

e ] b

. S X {_1'0 B Xow

Equation } =-)(xh) Equation
Domain _1R  Domain
Range_tp <l Range TR L@

{.3

| S

Equation
Domain

Range __ {R 2O

# = 3> Equation
_ Domain _{A"~ M

L

\ o[V
Equation k’i&i} Equation ﬁ
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Answer Choices for #9

y=(x-2)"-2
y=—(x+1)*+4
y=-2(x+1)>+4
y=Yx+2
y=qJx+1

y=¥x-2

ﬁ{ yp==3"
XV. y=2(3x)
. E 1)’
xvi. y=| 3

xviii. y=log; ¥
xix. y=log¥
1
=43
XxX. Y <43
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